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QUESTION 1

You are using the IDfMoveOperation to move a document that is currently checked out. What is the behavior of DFC?
A. It moves the document and the lock is still present on the document.

B. IDfMoveOperation.execute() method returns false and the document location isunchangeD.

C. IDfMoveOperation.add() method throws a DfException since checked-out objects cannotbe added to a move
operation.

D. It reports an error (IDfOperationError.OBJECT_CHECKED_OUT) using the operationmonitor and gives the option to
still move the document.

Correct Answer: B

QUESTION 2

How do you register the TBO and SBO packages in Documentum 5.3 or later?
A. copy the jar file toDocumentum/dba/java_methods

B. create a new module using Application Builder

C. copy the jar file to the DFC client that calls them

D. register the package using the BOFRegister utility

Correct Answer: B

QUESTION 3

Given the following code: Which statement is true?

A. All recipients of the workflow will need to signoff the workflow.

B. aObject can reference a non persistent object.

C. The recipients of the workflow will receive the workflow tasks sequentially.

D. The sender of the workflow will receive notification when all recipients have completedtheir work.

Correct Answer: D

QUESTION 4
Where are the credentials located for the BOF\\'s client dynamic delivery mechanism?

A. dfc.properties
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B. dmcl.ini
C. bof.properties
D. dbor.properties

Correct Answer: A

QUESTION 5

Which interface conforms to the Web Service Framework (WSF) restrictions on arguments and return types?
A. IDfTime

B. IDfPersistentObject

C. IDfList

D. IDfSession

Correct Answer: A

QUESTION 6

Which method needs to be extended to retain the lock after saving the object into the repository?
A. doSave()

B. doSavelock()

C. doLock()

D. doCheckout()

Correct Answer: A

QUESTION 7

Which interface can be used when creating repository objects that have content?
A. IDfTypedObiject

B. IDfDocument

C. IDfPersistentObject

D. IDfContentObject

Correct Answer: B
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QUESTION 8

Which entry is mandatory for the dfc.properties file?
A. dfc.data.dir

B. dfc.user.dir

C. dfc.checkout.dir

D. dfc.registry.mode

Correct Answer: A

QUESTION 9

You want to retrieve one document from a specific cabinet \WXYZ\\' using the getObjectByQualification(String
qualification) method. Which qualifier should you use?

A. dm_document WHERE FOLDER(\\'/XYZ\\')

B. dm_document WHERE r_folder_path = \\'/XYZ\\'

C. SELECT r_object_id FROM dm_document WHERE FOLDER(\\'/XYZ\\)

D. SELECT r_object_id FROM dm_document WHERE r_folder_path = \\/XYZ\\

Correct Answer: A

QUESTION 10

What can be viewed and manipulated using the IDfClientRegistry interface?
A. Java CLASSPATH

B. list of recently viewed Documentum documents

C. saved username and password for web applications

D. application to launch to View/Edit a document of a given format

Correct Answer: B

QUESTION 11

An object type test_type extends dm_document, and has an attribute test_attr of type int. An object of type test_type
exists in the repository with test_attr set to 1, and the object_id parameter in the following line of code points to that
object.

IDfSysObiject testObject = (IDfSysObject)session.getObject(object_id);
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What happens as the result of calling testObject.getString("test_attr") ?
A. null

B."1"

c.™

D. an IDfException set to DM_DFC_E_TYPE_MISMATCH

Correct Answer: B

QUESTION 12

Which function does IDfFile provide in addition to the java.io.File functionality?
A. compresses the file

B. gets and sets the URI

C. gets and sets the icon of the file

D. gets and sets the Macintosh resource path

Correct Answer: D

QUESTION 13

A TBO has been created for a custom object type called my_loan_application. The TBO relies on a dependant SBO to
calculate credit scores. The TBO is only invoked by the Webtop application. Where does the SBO execute?

A. Global registry machine
B. Content Server JVM

C. Application Server JVM
D. the client browser\\'s JVM

Correct Answer: C

QUESTION 14

Which method is used to remove a lifecycle from an IDfSysObiject instance?
A. demote()

B. detachPolicy()

C. removePolicy()
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D. detachLifecycle()

Correct Answer: B

QUESTION 15

Who can always use the IDfWorkflow.addPackage() method in a workflow?
A. workflow creator user

B. workflow supervisor user

C. any user member of the workflow creator user\\'s group

D. any user member of the workflow supervisor user\\'s group

Correct Answer: B
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